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N.B.: (1) Question No.1is compulsory.
(2) Attempt any four questions from Question Nos. 210 7.
(3) Assume suitable data wherever necessary with proper justification.
(4) Figures tothe right indicates full marks.
1. Attempt any four of the following :— 20

(a) Explain differential amplifier with active load.

(b) What is cross over distortion in class B power amplifier explaining with waveform ?
(c) State advantages of negative feedback on performance of amplifier.

(d) Forthe circuit given below calculate dc bias voltages Vg, Vg, and V-

¢ +20V
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(e) Forthe circuit given below determine the 3dB frequencies and bandwidth.
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2. Design atwo stage RC coupled amplifier for following requirements : F, betterthan 20
15 Hz, Av > 1500, S, < 8, R, > 1TMQ, V.= 6V.

[TURN OVER
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3. (a) Explain Class B Push Pull amplifier & derive the expression for maximum efficiency.
(b) For the given differential amplifier determine dc voltages, currents and single
ended output voltage V,,

“\-i&) < l'u'e,t: ROK 52
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4. (a) Fora class B amplifier with V., =20 V driving an 16 Q load, Determine :—
(i) Maximum input power,
(i) Maximum output power,
(i) Maximum circuit efficiency,
(iv) Transistor dissipation.
(b) Explain the high frequency analysis of a BJT amplifier. Derive necessary
expressions.

5. (a) Draw the circuit diagram of Wein bridge oscillator and explain its working.
Derive the necessary equation for frequency of oscillations and for sustaining
oscillations.

(b) Forthe following circuit determine A, B, A, Z;, Z,and A,
+Vee
RC"—'- Q-?KJ’L
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6. (a) Determine the lower cutoff frequency for the following network. 10
13V

Np= -6V
IMSt- L.’ﬁ - ST
LA louf

(b) For a current series negative feedback amplifier derive the expression for the 10
input and output resistances with feedback and comment on the resuit.

7. Write short note on any three :— 20
(a) Heat Sink and its design steps
(b) CMRR improvement in differential amplifier

(c) Nyquist stability criterion

(d) Crystal Oscillator.
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